do
lF_S‘orm

d
_dEC

<o
o

10?

10

1071

1072

[EEY

Ratio to ATLAS

0.5

13000 GeV pp

ECF3 (ATLAS jet substructure)

ATLAS

| | ||||||| |
Rivet 3.1.10, = 3.5M events

mcplots.cern.ch [arXiv:1306.3436]

g_ --4-- Herwig 7.2.1 default EJ_%
— —— Pythia 8.308 default 7]
:| | | [ | | | | | | | | | | | [ [ |:
I ' ' ' [ ' ' ' ' [ ' ' ' ' ' ' ' ' 1
= 32
- B

u El__,_[;}----E}-- a----""" EF-- -
L @ A A A ]
P 11
- —0.5
I T T R I T T R I T T SN T EPO T TP R T |

0 0.01 0.02 0.03 0.04

ECF3'orm



	Contents
	Page 1


